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@D ax*+14ax+49a

® 5x’%—10xy +5y

® 2x*y+ 20xy + 50y

@ (x-2)2+7(x-2)+12

@ xy+3x—4(y+3)

ROXZLRLTEELZ S,

O 74*-26°

25x* + 30xy + 9y

3ax*— 18ax + 27a

xy—x+2(@p—-1)

4x* — 20xy + 25)°

(x+2)2—4(x+2) —21

18— 82°
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KROKX % HEGEL % S

@D ax®+ 14ax+49a
=a(x*+14x+49)
=a(x+7)?

® 5x’%—10xy +5y
=5y (x*—2x+1)
=5y(x—1)*

® 2x*y+ 20xy + 50y
=2y (x*+10x + 25)
=2y(x+5)*

@ (x=2)+7(x-2)+12
={(x-2)+4}{(&x-2)+3}

=(x+2) (x+1)

@ xy+3x—4(y+3)
=x(y+3) —4(+3)

=(x—4) (y+3)

ROXZLRLTEELZ S,

O 74%— 26?
= (74+26) (74— 26)
=100 x 48

= 4800
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@ 25x*+ 30xy + 9y*
= (5x)?+ 2% 3y xbx+ (3y)*?
= (bx+3y)?

@ 3ax*—18ax+27a
=3a(x*-6x+9)
=3a(x—3)*%

® xy—-x+2(H-1)
=x(y-1)+2(@-1)

=x+2) (-1

4x* — 20xy + 25
= (2x)*=2 X5y x 2x + (5y)?
= (2x—5y)®

(x+2)=4(x+2)-21
={(x+2)-7}1{(&x+2)+3}
=(x—5)(x+5H)

@ 18*—82*
= (18 +82) (18 -82)
=100 x (—64)
= — 6400
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